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1) Solve the equation 2x° + x* — 12x3 = 12x2 +x + 2 = 0.
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2) Given that the roots of x° + 3px? + 3gx+r =0 are in 9 peds afe i AP
) AP.Show that 2p3—3pq+r:O] —_—
i) G.P.show that p°r = ¢° A-d, "/”‘A"l
iii) H.P. show that 2g® = r(3pq — r ~ .
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3) Solve 18x3 + 81x% + 121x + 60 = 0, given that one root is equa_ld'gg’ha_hc

the sum of the remaining roots.
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4) Solve x* + x3 — 16x? — 4x + 48 = 0, given that the product of two roots is 6.

. T
5/”&' (3New  Cgoek™ -

ol ¥ +yr &= -

S - Aprird

517‘/. p([s*/S: -1 ¥
8= -8

D gl Lr AFEZO

}(Le, *[609"5’

A+ l5+ 3P Sx= 7
g(iﬁ) ~%( Pui)z -4

p5 4= o4







5) Solve 4x3 — 24x? + 23x + 18 = 0, given that the roots are in the A.P.
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6) Solve the equation x3 — 7x? + 14x — 8 = 0, given that the roots are in
G.P.
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7) Solve x* +4x3 —2x? —12x + 9 = 0, given that it has two pairs of equal

roots
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8) Find the polynomial equation of degree 5 whose roots are the

translate of the roots of x> +4x3 —x2 + 11 =0, by -3,
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